EARAROBEEIERT — 2 N— IBISH —F

20145%8A178 (B) 7TEIEH2H

m C2—4 C2 5% EEE R
[AE£] 1% :110,000"  23%&:28,000 "  33%&:14,000”  43%&:9,000H ~ 53 :6,000H
B B BEBR M HE BF (FE) g4 L (&%) | BBIER | EOF SR | AR | HhE | BRE (FIR) / BE / £ERS
o= 47 FEEX :25. -3-3- . - WARE (SH)
1178 & hINTE AR H o4 N 1(2_5)2 3-3-3-1 39.8 1 (45;; é—:ﬁf‘fﬁ
LTIWFNRTL2 BY—XGLAZR iR
o 5 | KHEAE 1:25.4 1-2-2-2 | 40.2| — 2 455 | HEEX (SH)
2|77 | ¥TAEU Y b i 54.0 ) “7) 1(Z) SRLTASCR
L:T7 o BXT4 9774 8 BT HIL— ¢ EUESAN ¢ ]
< N EESEL : 44~ - MBI ()
318l 732l bUZY R AP 1(/72512;5 iz 400 ’ <4+311) i
L:d—IRAq1O— B:73Ialvb 11— NETHS
I s 4 5 | LHEFTE 1:26.5 8-8-8-8 |40.0| — 5 457 | EEEE (B
al1]q]|7T3—=1> 54.0 ® oy |EEDEE
R:w>NnNyBa>h7r B:vyF¥—T71KL RN
Sy s BT =] :26. -9-9- . — RmAEA (BH)
5 3| HNLYrFay 4 5 o= 1(226)9 10-9-9-9 | 40.0 8 (5253; ;ﬁ_ﬂiﬂ%—
LY rsSO—LIL B:SL—X7 RIS
¢ =JlI= 27. ~7-6- Al = THER (35
6 6| ¥YARE—Y1TLX i O 52?5.0 1;3’ [l 6 3273) HIRAE
L:2ZXHhvweR B:O—-L>o7 s e
N KIEHHER : —6-7- - =2RE— (&)
N Bt O G [T ] o R
R:FEY RY21Z7 B:OvrIXED— EHEZX2 YK
= . = PR —BA : ~5-5- = EEEE (5H)
8l5l5|¥22—F151 1 4 6 e 1(52/(4.)2 5-5-5-6 | 41.4 7 (4:113; Ia’al;r;k%—
L7 Rv4¥ad—-> B:T7YIT7UR [Elzkaec)
. = it F :28. -1-1- Al = EEEE (&)
9 4 ILxvoFq— % 7 o 1(258)2 1-1-1-5 | 43.1 9 ;1_412) IEJ;%%—
L:vrz=ad>r B:FLITIVRA WeE S HUE
3 st 7 | BIE— 1:29.0 9-10-10-10 | 41.6 | — 10 | 480 |EHTF (BH)
10/8|9|LvT7L¥vR 56.0 @ Ch | (@ JP N
R:TT2AExAL Bk bR EU b BIHBE
® 1 — @B
13=37r= (4,7),8,10,5,2,6,1,9,3
2a=5F= 4,7,8,10,5,2,6,1,3,9
Ja=5= 4,7,8,10,5,6,2,1,3,9
43—+ — 8,(7,10),6,4,5,2,1,3,9
[ /N
B 8 160 714K 7-8 110H e E -7 140M JEE 7-8-10 460M
B B 8 110H 8-10 200M B = 7-8 130H JEE =10 670M
7 1609 7-10 300M B H 8-7 210M
10 200M

ABICOVWTRDTEEERROODE. TR LIV,




